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2 times table ()
Ox2=__ 3x2-= /x2=__
1x2=__ Nx2=__ Nx2=__
2x2=__ Ox2=__ 3x2=__
3x2=__ Ix2=_ 2x2=__
Ux2=__ 10x2=__ 8x2=__
S5x2=__ 1x2=__ Ux2-=
bx2=__ Ux2=_ bx2=__
Ix2=__ bx2=__ Ox2=__
8x2=__ 12x2=__ 12x2=__
9x2=__ 2x2=__ Ax2=__
10x2=__ 8x2=__ 1x2=__
Nx2=__ 9x2=__ 5x2=__
12x2=__ 5x2=__ 10x2=__
_ x2=0 _ x2=22 _ x2=8
x2=18 __ x2=8 x2=10
x2 =14 _ x2=24 x2=0
_ x2=Y4 _ x2=20 x2=12
x2=2 _ x2=0 x 2 =14
_ x2=8 _ x2=18 x2=2
x2=16 _ x2=10 x2=18
_ x2=6 _ x2=2 x2=16
_ x2=20 _ x2=Y4 _ x2=22
x2=10 _ x2=12 _ x2=20
_ x2=24 _ x2=14 _ x2=6
_ x2=22 _ x2=6 o x2=24
x2=12 _ x2=16 __ x2=Y4
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2 times table (a)
O0x2= o 3x2= o 7x2= 4
1x2=_ 2 Nx2= 922 NMx2=_99
2x2= 4 O0x2=_ ¢ 3x2= ¢
3x2= ¢ 7x2= |y 2x2= 4
Ux2= & 10x2= 20 8x2= |6
5x2= 10 1x2=_ 2 Ux2= @
6x2=_ 2 Ux2=_ @ bx2=_ 12
/x2= 4 6x2=_ 12 Ox2= o
8x2= | 12x2= 2y 12x2=_ 244
Ax2= 1% 2x2= 4 9x2=_ 19
10x2= 20 8x2= |6 1x2=_ o9
Nx2= 22 9x2= |8 5x2= 10
12x2= 244 5x2= 10 10x2= 20
_o x2=0 1\ x2=22 4 x2=8
_ 4 x2=18 4 x2=8 5 x2=10
9 x2=14 12 x2=24 0 x2=0
2 x2=4 10 x2=20 6 x2=12
1 x2=2 0o x2=0 _ 7 x2=14
4y x2=8 ~q x2=18 1 x2=2
_R® x2=16 s x2=10 9 x2=18
_3 x2=6 1 x2=2 _® x2=16
1o x2=20 2. x2=U4 1L x2=22
g5 x2=10 e x2=12 10 x2=20
12 x2=24 1 x2=14 R x2=6
W\ x2=22 2 x2=6 12 x2=24
b x2=12 8 x2=16 _ 2 x2=4




